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5 B H) E I H K OE & HE fE| 4H250 5A16H 6H9H 7TH20H 8H29H 9H 121
BIE574) 7354y T304y TIE334y 8114y TIHE354y
= wO(C) 9.1 12.8 15.1 20.2 17.7 21.7
& w®(C)H 7.6 9.6 11.4 18.2 19.4 19.1
i 1| — % i f (f/mL)|  100fE/mLEA T 0 0 0 0 0 0
LIRS 5 i RrifiEninnze A ARHgH ARHgH AR ARHgH ARHgH
E 3 AFIV AR ZOKE Y (mg/l) 0.003 mg/LELF < 0.0003 — — < 0.0003 — —
oAk K O E o fk & # (mg/L) | 0.0005 mg/LLLT — — — < 0.00005 — —
o % sltL v R UZOKE Y (mg/l) 0.01 mg/LELF <0.001 — — < 0.001 — —
o6l K B o b & W (mg/L) 0.01 mg/LLLF <0.001 — — < 0.001 — —
% 7t # R G ZE 0O A W (mg/l) 0.01 mg/LELF <0.001 — — < 0.001 — —
# 8l A fli 7 m A ft & % (ng/L) 0.02 mg/LLLF <0.002 — — < 0.002 — —
% oo|l@mE W M = % (mg/L) 0.04 mg/LLLF < 0.004 — — < 0.004 — —
3 10| o7 ALAT Y R UKy T (me/L) 0.01 mg/LLLF < 0.001 — — < 0.001 — —
M |5 0| BB RE R R CERY B IEE K (me/L) 10 mg/LLLF 0.10 — — 0.11 — —
K1l y #HEOGZEokAE® (ng/l) 0.8 mg/LLLF 0.13 — — 0.13 — —
EBlAY #F KR ®EOMKAE Y (ng/L) 1.0 mg/LELF 0.28 — — 0.28 — —
i Eulmo o k. F (ng/L) 0.002 mg/LELF < 0.0002 — — < 0.0002 — —
’fi E5l1, 4 Y 4 X v (mg/l) 0.05 mg/LELF < 0.005 — — < 0.005 — —
5 soae| (UL 2EIEIETE G gy | 00t me/LitF | <0.004 — — <0.004 — —
Sl mem [mur|y 2 om w2 s v e/ 0.02 mg/LELF <0.002 — — < 0.002 — —
A B|F FF s E e = F L (mg/l) 0.01 mg/LELF < 0.001 — — < 0.001 — —
19 F U s v om o= F Lo (mg/L) 0.01 mg/LELF <0.001 — — < 0.001 — —
3 20| ~ v € v (mg/L) 0.01 mg/LLLF < 0.001 — — < 0.001 — —
3 21| % Bt (mg/L) 0.6 mg/LELF <0.04 — — <0.04 — —
3% 22| v = u B B (mg/L) 0.02 mg/LLLF <0.002 — — < 0.002 — —
ks = = & A A (me/l) 0.06 mg/LELF < 0.001 — <0.001 < 0.001 0.001 0.001
#aulvy s v v F B (ng/L) 0.03 mg/LLLF < 0.003 — — <0.003 — —
k25v 7 me s mom s (mg/l) 0.1 mg/LELF 0.002 — 0.002 0.003 0.003 0.003
@Jﬁ%} I 26| 8 % B (mg/L) 0.01 mg/LLLF < 0.001 — — < 0.001 — —
Lol R U o~ om X H v (me/l) 0.1 mg/LELF 0.003 — 0.003 0.005 0.006 0.006
b UV 7 B B E OB (mg/L) 0.03 mg/LLLF <0.003 — — <0.003 — —
o7 m e Y s mow A s (me/l) 0.03 mg/LELF 0.001 — 0.001 0.002 0.002 0.002
37 =m o= Ak A 4 (mg/l) 0.09 mg/LELF < 0.001 — <€0.001 < 0.001 <€0.001 <€0.001
E3lA A A 7 A F b F (me/l) 0.08 mg/LLLF < 0.008 — — <0.008 — —
32l kYT o b & W (mg/L) 1.0 mg/LELT <0.01 — — <0.01 — —
" BB TAI=ZT AR BZOEY (ng/L) 0.2 mg/LELF <0.02 — — <0.02 — —
Eulg kB o b & W (mg/L) 0.3 mg/LEAF <0.01 — — <0.01 — —
3B M R B o L & # (mg/l) 1.0 mg/LELT <0.01 — — <0.01 — —
IS 36| FRUT AR OE DAY (mg/L) 200 mg/LEAT 15.0 — — 15.1 — —
@ B3| v H U R BEOKE W (mg/L) 0.05 mg/LELF <0.001 — — < 0.001 — —
& EalH k. ®m A4 4 v (ng/L) 200 mg/LLLF 14.7 14.6 14.6 14.7 13.3 13.7
’;JJ 'S JE 39| ANV A v Ry L% (1 E)  (mg/L) 300 mg/LELF 51.0 — — 51.8 — —
b | % % M W (el 500 mg/LLLF 125 — — 121 — —
E;ﬁ i) Eall B A 4 v R Om I M A (me/L) 0.2 mg/LLLF — — — <0.02 — —
‘;i] s ka2lv = 4 23 v (mg/L) | 0.00001 mg/LLLT — — — < 0.000001 — < 0.000001
F 43| 2= AF A AV HEA A — A (mg/L) | 0.00001 me/LELF — — — < 0.000001 — < 0.000001
2w fwale o mmE oA e | 002 me/LuT — — — <0.002 — —
Bl mm |esls = o — 4 8 (meg/L)| 0005 mg/LUT — — — <0.0005 — —
3 46| AT (2ATHEHE (TOC) D) (meg/L) 3 mg/LELF 0.3 0.3 0.3 0.3 0.4 0.3
47| p H it 5821 1-8.64F 7.00 7.03 7.00 7.00 6.94 7.06
ey | %8 IS RETROZE FHTRL FHTRL FH L FHTRL FHTRL FHTRL
LA P = BT Al | BEaL | mEseL | Bl | RmEsL | BEAL
3% 50| £ o) 5 HELLF <1 <1 <1 <1 <1 <1
3% 51| W BE( ) 2 BELLF <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
e EORE 7% 2 #i # (mg/L) 0.48 0.48 0.48 0.48 0.48 0.48
i # i ] AR A IR K i SE R S SR K B e S —
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